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Week 7 Day 2

1. A regular hexagon has sides 6cm long. What is the perimeter of the hexagon?



1. Here is a grid of regular hexagons. The shaded shape is made up of 3 hexagons and a perimeter of 14cm. Draw another shape on the grid made up of 4 hexagons which has a perimeter of 14cm.
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1. The perimeter of a regular octagon is 40cm. What is the length of each side?
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“This shape is made from 4 shaded squares. Calculate the perimeter of this shape.
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Not
actual size

Calculate the perimeter of a rectangle that is 11 metres long and 4 metres wide.

Lauren has 3 small eqilateral triangles and 1 large equilateral triangle. The small
triangles have sides of 7cm. Calculate the perimeter of the shape.
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